5.2 Inverses of Quadratic Functions          Name: 
Graph the function f(x) for the domain x > 0.  The graph its inverse, f-1(x), and write the rule for the inverse function.

1.  f(x) = x2


f-1(x) = _____________________
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f-1(x) = _____________________
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3.  f(x) = 
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f-1(x) = _____________________
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	f(x)
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Transformation of f(x) from the parent graph of
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4.  f(x) = 
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f-1(x) = _____________________
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	f(x)
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Transformation of f(x) from the parent graph of


[image: image5.wmf]x

x

f

=

)

(

:  _______________________________

_1485070553.unknown

_1485070768.unknown

_1485070799.unknown

_1485070714.unknown

_1485070441.unknown

